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QUESTION 1

What is the primary reason for assigning role-based communities to routes advertised by different nodes?
A. Perform policy based routing

B. Prevent routing loops

C. Reduce complexity

D. Route filtering

Correct Answer: D

Reference:
https://www.cisco.com/c/dam/en/us/td/docs/solutions/Enterprise/Mobility/EPN/4_O0/EPN_4_System_Concept_Guide.pdf

QUESTION 2

Which three options can be considered a type of small cell (Choose three.)
A. Microcell

B. Femtocell

C. Micro

D. Pico

E. Picocell

F. Dendriticcell

Correct Answer:. ABE

QUESTION 3

How does traditional mobile networks scale?
A. non-exponentially

B. exponentially

C. linearly

D. nonlinearly

Correct Answer: C
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QUESTION 4

In a Unified MPLS for IP MBH context, what are pre-aggregation nodes?
A. are route reflector clients of the Core Route reflector

B. are route reflector clients of the core node ASBR

C. are route reflector clients of the core node ABR

D. are all route reflector

Correct Answer: C

QUESTION 5

Which technology is a mechanism that emulates point-to-point connection over a packet switched network?
A.LFA FRR

B. SyncE

C. PWE3

D. TDM

Correct Answer: C
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